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PERIMETER AND AREA

Exercise 11 1

1. The perimeter of a rectangular sheet is  cm. If the

length is  cm, �nd its breadth. Also �nd the area

Watch Video Solution

100

35

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gm0RYHXYZvw0
https://dl.doubtnut.com/l/_vK8tVMiFQlLw


2. A door of length 2 m and breadth 1m is �tted in a

wall. The length of thewall is 4.5 m and the breadth is

3.6 m (Fig11.6). Find the cost of white washing the wall,

if the rate of white washing the wall is Rs 20 per m2.

Watch Video Solution

3. The area of a square park is the same as of a

rectangular park. If the side of the square park is 60 m

and the length of the rectangular park is 90 m, �nd the

breadth of the rectangular park.

Watch Video Solution

https://dl.doubtnut.com/l/_vK8tVMiFQlLw
https://dl.doubtnut.com/l/_h8L80chcMCZf


4. Find the area of a square park whose perimeter is

320 m.

Watch Video Solution

5. A wire is in the shape of a rectangle. Its length is 40

cm and breadth is 22 cm. If the same wire is rebent in

the shape of a square, what will be the measure of each

side? Also �nd which shape encloses more area?

Watch Video Solution

https://dl.doubtnut.com/l/_awYWGdgGn5Ww
https://dl.doubtnut.com/l/_zxHaNFtvFTgc


6. Find the breadth of a rectangular plot of land, if its

area is  and the lenght is  Also �nd its

perimeter

Watch Video Solution

440m2 22m.

7. The length and the breadth of a rectangular piece of

land are 500 m and 300 m respectively. Find(i) its area 

(ii) the cost of the land, if 1 m2 of the land costs Rs

10,000.

Watch Video Solution

https://dl.doubtnut.com/l/_hM5gYTKB4lXr
https://dl.doubtnut.com/l/_Krtwjbt48gIA


Exercise 11 3

8. The perimeter of a rectangle is 130 cm. If the breadth

of the rectangle is30 cm, �nd its length. Also �nd the

area of the rectangle.

Watch Video Solution

1. How many times a wheel of radius  must rotate

to go ? (Take )

A. 

B. 

28cm

352m π =
22

7

100

300

https://dl.doubtnut.com/l/_ZiLiui0Vabct
https://dl.doubtnut.com/l/_n5m5MpTOAF0F


C. 

D. 

Answer: C

Watch Video Solution

200

400

2. The minute hand of a circular clock is  long. How

far does the tip of the minute hand move in 1 hour.

(Take )

Watch Video Solution

15cm

π = 3.14

https://dl.doubtnut.com/l/_n5m5MpTOAF0F
https://dl.doubtnut.com/l/_nYi8VYfYDoRo


3. Find the circumference of the inner and the outer

circles, shown in the adjoining �gure ? (Take ) 

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_mWfxRiqcqIVT


4. A circular �ower garden has an area of  A

sprinkler at the centre of the garden can cover an area

that has a radius of  Will the sprinkler water th

entire garden ? (Take p )

Watch Video Solution

314m2.

12m.

π = 3.14

5. A circular �ower bed is surrounded by a path 

wide. The diameter of the �ower bed is  What is

the area of this path ? 

Watch Video Solution

4m

66m.

(π = 3.14)

https://dl.doubtnut.com/l/_CoK0QkKwlyOa
https://dl.doubtnut.com/l/_IlirWcsfk21y


6. The circumference of a circle is  Find the

radius and the area of the circle ? (Take )

Watch Video Solution

31.4cm.

π = 3.14

7. From a circular card sheet of radius  two

circles of radius  and a rectangle of length 

and breadth  are removed. (as shown in the

adjoining �gure). Find the area of the remaining sheet.

(Take )

Watch Video Solution

14cm,

3.5cm 3cm

1cm

π =
22

7

https://dl.doubtnut.com/l/_IfHsucB1RXNh
https://dl.doubtnut.com/l/_s0Ca0kkErnzo


8. A circle of radius  is cut out from a square piece

of an aluminums sheet of side  What is the area

of the left over aluminums sheet ? (Take )

Watch Video Solution

2cm

6cm.

π = 3.14

9. Find the perimeter of the adjoining �gure, which is a

semicircle includingits diameter

Watch Video Solution

https://dl.doubtnut.com/l/_FQpcuE2wJmIs
https://dl.doubtnut.com/l/_7FrLSoMbDoeS


10. Find the circumference of the circles with the

following radius: (Take ) (a)  (b)  (c)

Watch Video Solution

22

7
14cm 28mm

21cm

11. Find the area of the following circles, given that

:(a) radius = 14 mm (Take  ) 

: (b) diameter = 49 m

:(c) radius = 5 cm

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_7FrLSoMbDoeS
https://dl.doubtnut.com/l/_zOpLTpm9jFb4
https://dl.doubtnut.com/l/_GYyy0y92j7EW
https://dl.doubtnut.com/l/_ZdkS2Aeu0mI2


12. If the circumference of a sheet is  �nd its

radius. Also �nd the area of the sheet. (take )

Watch Video Solution

154m,

p =
22

7

13. A gardener wants to fence a circular garden of

diameter  Find the length of the rope he needs to

purchase, if he makes  rounds of fence. Also �nd the

costs of the rope, if it cost Rs  per meter. (take

)

A.  rs

B.  rs

C.  rs

21m.

2

4

π =
22

7

550

500

528

https://dl.doubtnut.com/l/_ZdkS2Aeu0mI2
https://dl.doubtnut.com/l/_T1qgttKXTkiE


D.  rs

Answer: C

Watch Video Solution

510

14. 6).From a circular sheet of radius 4 cm, a circle of

radius 3 cm is removed. Find the area of the remaining

sheet. (take )(7).Saima wants to put a lace on

the edge of a circular table cover of diameter 1.5 m.

Find thelength of the lace required and also �nd its

cost if one meter of the lace costs ₹15.(take )

Watch Video Solution

π =
22

7

π =
22

7

https://dl.doubtnut.com/l/_T1qgttKXTkiE
https://dl.doubtnut.com/l/_0OLgmSKXK7tv
https://dl.doubtnut.com/l/_ehJDR1JsMYhu


15. Saima wants to put a lace on the edge of a circular

table cover of diameter 1.5 m. Find the length of the

lace required and also �nd its cost if one meter of the

lace costs  (take )

Watch Video Solution

Rs15. π = 3.14

16. Find the cost of polishing a circular table-top of

diameter  if The rate of polishing is 

(take )

Watch Video Solution

1.6m, Rs15m2

π = 3.14

https://dl.doubtnut.com/l/_ehJDR1JsMYhu
https://dl.doubtnut.com/l/_LJLbKenV6O3D


Exercise 11 4

17. Shazli took a wire of length 44 cm and bent it into

the shape of a circle. Find the radius of that circle. Also

�nd its area. If the same wire is bent into the shape of a

square, what will be the length of each of its sides?

Which �gure encloses more area, the circle or the

square? 

Watch Video Solution

(T akenπ = )
22

7

1. A verandah of width 2.25 m is constructed all along

outside a room which is 5.5 m long and 4 m wide. Find:

https://dl.doubtnut.com/l/_vvIhF6uSaj6S
https://dl.doubtnut.com/l/_2OEsGrR3Hzbf


(i) the area of the verandah.(ii) the cost of cementing

the �oor of the verandah at the rate of Rs 200 per m2.

Watch Video Solution

2. A garden is 90 m long and 75 m broad. A path 5 m

wide is to be built outside and around it. Find the area

of the path. Also �nd the area of the garden in hectare.

Watch Video Solution

3. A picture is painted on a cardboard 8 cm long and 5

cm wide such that there is a margin of 1.5 cm along

each of its sides. Find the total area of the margin.

https://dl.doubtnut.com/l/_2OEsGrR3Hzbf
https://dl.doubtnut.com/l/_ePI3gmGr4Lof
https://dl.doubtnut.com/l/_QDni1GXDVNwz


Watch Video Solution

4. A 3 m wide path runs outside and around a

rectangular park of length 125 m and breadth 65 m.

Find the area of the path

Watch Video Solution

5. A path  wide is built along the border and inside a

square garden of side  Find: (i) the area of the

path (ii) the cost of planting grass in the remaining

portion of the garden at the rate of  per 

Watch Video Solution

1m

30m.

Rs40 m2

https://dl.doubtnut.com/l/_QDni1GXDVNwz
https://dl.doubtnut.com/l/_HBFVaGMSWBVy
https://dl.doubtnut.com/l/_PowoLMsEIThk


6. Through a rectangular �eld of length 90 m and

breadth , two roads are constructed which are

parallel to the sides and cut each other at right angles

through the centre of the �elds. If the width of each

road is 3 m, �nd (i) the area covered by the roads. (ii)

the cost of constructing the roads at the rate of Rs 

per 

Watch Video Solution

60m

110

m2

7. Two cross roads, each of width 10 m, cut at right

angles through the centre of a rectangular park of

length 700 m and breadth 300 m and parallel to its

sides. Find the area of the roads. Also �nd the area of

https://dl.doubtnut.com/l/_TZ0yTQh6ziKd
https://dl.doubtnut.com/l/_IBjjg1nc5Ld8


the park excluding cross roads. Give the answer in

hectares

Watch Video Solution

8. The adjoining �gure represents a rectangular lawn

with a circular �ower bed in the middle. Find:

(i) the area of the whole land 

(ii) the area of the �ower bed

(iii) the area of the lawn excluding the area of the

�ower bed

https://dl.doubtnut.com/l/_IBjjg1nc5Ld8
https://dl.doubtnut.com/l/_cDAzKb3XbWda


Solved Examples

(iv) the circumference of the �ower bed.

Watch Video Solution

1. What is the circumference of a circle of diameter 10

cm. (Take )

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_cDAzKb3XbWda
https://dl.doubtnut.com/l/_hHWyZ0FD3mn3


2. What is the circumference of a circular disc of radius

14 cm? (Take )

A. 90cm

B. 86cm

C. 92cm

D. 88cm

Answer: D

Watch Video Solution

π =
22

7

3. Find  if the area of the triangle  is 

and the height  is  (Fing 11.21)

BC, ABC 36cm2

AD 3cm

https://dl.doubtnut.com/l/_wUiN9G4xuZM0
https://dl.doubtnut.com/l/_q0JIWS5fnH7K


Watch Video Solution

4. In 

(Fig 11.22). Find: (i) the area of the  (ii) QM 

Watch Video Solution

ΔPQR, PR = 8cm, QR = 4cm and PL = 5cm

ΔPQR

5. Sudhanshu divides a circular disc of radius  in

two equal parts. What is the perimeter of each

semicircular shape disc ? (Use )

7cm

π =
22

7

https://dl.doubtnut.com/l/_q0JIWS5fnH7K
https://dl.doubtnut.com/l/_75eitOXFvDBB
https://dl.doubtnut.com/l/_0qSP9egKb1UH


Watch Video Solution

6. Find the area of a circle of radius  (use 

)

Watch Video Solution

30cm π = 3.14

7. The radius of a circular pipe is  What length of

a tape is required to wrap once around the pipe

 ?

Watch Video Solution

10cm.

(π = 3.14)

https://dl.doubtnut.com/l/_0qSP9egKb1UH
https://dl.doubtnut.com/l/_6dGqufGJTQQa
https://dl.doubtnut.com/l/_dwBFZ8wxTOXn


8. Find the perimeter of the given shape (Fig 11.32) (Take

)

Watch Video Solution

π = 22/7

9. Diameter of a circular garden is  m. Find its area.

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

9.8

75.46m2

74.46m2

72.46m2

73.46m2

https://dl.doubtnut.com/l/_bkD45L6vaJrJ
https://dl.doubtnut.com/l/_MTh2ked6XAZ0


Watch Video Solution

10. The adjoining �gure shows two circles with the

same centre. The radius of the larger circle is  cm and

the radius of the smaller circle is  cm.

Watch Video Solution

10

4

11. Two cross roads, each of width 5 m, run at right

angles through the centre of a rectangular park of

length 70 m and breadth 45 m and parallel to its sides.

Find the area of the roads. Also �nd the cost of

constructing the roads at the rate of Rs  per 

Watch Video Solution

105 m2.

https://dl.doubtnut.com/l/_MTh2ked6XAZ0
https://dl.doubtnut.com/l/_bUab5mm0h4Sq
https://dl.doubtnut.com/l/_owAzSC9ZtmQU


12. A path 5 m wide runs along inside a square park of

side  Find the area of the path. Also �nd the cost

of cementing it at the rate of  per 

Watch Video Solution

100m.

Rs250 10m2.

13. A rectangular park is 45 m long and 30 m wide. A

path 2.5 m wide is constructed outside the park. Find

the area of the path.

Watch Video Solution

https://dl.doubtnut.com/l/_owAzSC9ZtmQU
https://dl.doubtnut.com/l/_9u5JOb326PMA
https://dl.doubtnut.com/l/_VVD5PIqdL8P6


14. A door-frame of dimensions 3m×2m is �xed on the

wall of dimension 10m×10m. Find the total labour

charges for painting the wall if the labour charges for

painting  of the wall is Rs2.50.

Watch Video Solution

1m2

15. Anu wants to fence the garden in front of her house

(Fig 11.5), on three sides with lengths 20 m, 12 m and 12

m. Find the cost of fencingat the rate of Rs 150 per

metre

Watch Video Solution

https://dl.doubtnut.com/l/_x6jDO0rmmm9n
https://dl.doubtnut.com/l/_g1bXZxD7qtZB
https://dl.doubtnut.com/l/_83UkPnWCvNZU


16. The area of a rectangular sheet is  If the

length of the sheet is  what is its width? Also

�nd the perimeter of the rectangular sheet.

Watch Video Solution

500m2.

25cm,

17. The area of a square and a rectangle are equal. If the

side of the square is40 cm and the breadth of the

rectangle is 25 cm, �nd the length of therectangle. Also,

�nd the perimeter of the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_83UkPnWCvNZU
https://dl.doubtnut.com/l/_DXcuxztCPy3q


18. A wire is in the shape of a square of side 10 cm. If the

wire isrebent into a rectangle of length 12 cm, �nd its

breadth. Which enclosesmore area, the square or the

rectangle?

Watch Video Solution

19. Find the height ‘x’ if the area of the parallelogram is

and the base is4 cm.

Watch Video Solution

24cm2

https://dl.doubtnut.com/l/_N6UriV1cEc6K
https://dl.doubtnut.com/l/_omWO7pplDBZa


20. One of the sides and the corresponding height of a

parallelogram are 4 cm and 3 cm respectively. Find the

area of the parallelogram (Fig 11.17).

Watch Video Solution

21. Find the area of the following triangles (Fig 11.20).

Watch Video Solution

https://dl.doubtnut.com/l/_i3qXBR5FONSc
https://dl.doubtnut.com/l/_flBSh7VvMEt1


Exercise 11 2

22. The two sides of the parallelogram ABCD are 6 cm

and 4 cm. The heightcorresponding to the base CD is 3

cm (Fig 11.19). Find the(i) area of the parallelogram.   (ii)

the height corresponding to the base AD.

Watch Video Solution

1.  is right angled at A (Fig ).  is

perpendicular to  If  and,

ΔABC 11.25 AD

BC. AB = 5cm, BC = 13

https://dl.doubtnut.com/l/_EDeu3cKY6fO0
https://dl.doubtnut.com/l/_L34rT8q7yJ5S


�nd the area of  Also �nd the lenght of   

Watch Video Solution

ΔABC AD.

2.  are the height on sides 

respectively of parallelogram  (Fig ). If the

area of the parallelogram is

 �nd the 

Watch Video Solution

DL and BM AB and AD

ABCD 11.24

1470cm2, AB = 35cm and AD = 49cm

BM and DL.

https://dl.doubtnut.com/l/_L34rT8q7yJ5S
https://dl.doubtnut.com/l/_KVp2DrBVym4p


3.  is a parallelogram  is the

height from  to  is the height from  to 

 If . 

Find :   

(b)  if   

Watch Video Solution

PQRS (Fig11.23). QM

Q SR and QN Q

PS. SR = 12cm and QM = 8cm

(a)  the area of the parallegram PQRS

QN, PS = 8cm

https://dl.doubtnut.com/l/_KVp2DrBVym4p
https://dl.doubtnut.com/l/_QNCKyJx97fq5


4. Find the missing values: 

Watch Video Solution

5. Find the missing values: 

Watch Video Solution

https://dl.doubtnut.com/l/_QzVCV5jfjZAO
https://dl.doubtnut.com/l/_HDdLAayIm17a


6. Find the area of each of the following triangles:

Watch Video Solution

7. Find the area of each of the following parallelograms:

Watch Video Solution

8.  is isosceles with 

The height  from  to  is  Find the area of 

 What will be the height from  to 

ΔABC

AB = AC = 7.5cm and BC = 13cm and AC = 12cm.

AD A BC 6cm.

ΔABC. C AB, CE

https://dl.doubtnut.com/l/_uq8NrvEi3euE
https://dl.doubtnut.com/l/_Lp8E5xh7bCmP
https://dl.doubtnut.com/l/_QJaaOtwa06CL


Watch Video Solution

https://dl.doubtnut.com/l/_QJaaOtwa06CL

